Grade 3 Book 3-1 Theme 3 Story 1
“The Stories Julian Tells”

LA.A.2.2.1 Main Idea pg. 289

1.

What happens RIGHT AFTER Julian shows Gloria his rock

collection?

A.  Julian makes strawberry Kool-Aid.
(correct)

B.  Julian shows Gloria his room.
(event presented out of order)

C.  Julian shows Gloria his games.
(event presented out of order)

D.  Julian makes a kite of newspaper.

(event presented out of order)

LA.A.1.2.3 Vocabulary pg. 290

2.

Read this sentence from the story.

Gloria giggled, and we licked off the mustaches with our tongues.

What does the word giggled mean in this sentence?

A.

B.

moved

(incorrect meaning of word)
wished

(incorrect meaning or word)
laughed

(correct)

squawked

(incorrect meaning of word)
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Grade 3 Book 3-1 Theme 3 Story 1
“The Stories Julian Tells”

LA.E.1.2.3 Similarities and Differences pgs. 285-297
3. How does Julian’s life change in the story?

A. At first he lived in the city; then he moved to the country.
(incorrect comparison)
B. At first he was happy; then later he was sad.
(incorrect comparison)
C.  Atfirst he liked girls; then he didn’t like girls.
(plausible but incorrect response based on text)
D. At first he was by himself; then he had a friend.
(correct)

LA.A.2.2.2 Author’s Purpose pgs. 285-297
4. Why did the author write “The Stories Julian Tells”?

A.  To show how to make Kool-Aid.
(detail that does not represent author’s purpose)
B.  To teach readers how to make wishes.
(incorrect interpretation of author’s purpose)
C.  To tell readers a story about friendship.
(correct)
D.  To explain how to fly kites.
(detail that does not represent author’s purpose)
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Grade 3 Book 3-1 Theme 3 Story 1
“The Stories Julian Tells”

LA.E.1.2.3 Similarities and Differences pgs. 285-297

5.

Which word describes BOTH Julian and Gloria?

A.

lonely

(incorrect comparison)
friendly

correct)

thirsty

(incorrect comparison)
serious

(incorrect comparison)

LA.E.2.2.1 Cause and Effect pg. 292

6.

Why do Julian and Gloria not tell each other their wishes?

A.

B.

Their wishes would fall from the kite.
(plausible but incorrect response based on text)
Their wishes were flying higher and higher.
(incorrect effect)

Their wishes won’t come true.

(correct)

Their wishes will come true.

(incorrect effect)
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